OO DCBC - 303
Ill Semester B.Com. Examination, April/May 2023

(NEP Scheme)
COMMERCE
Paper — 3.3 (DSC) : Cost Accounting
Time : 2%2 Hours Max. Marks : 60
Instruction : All the answers to be written in English or in Kannada.
SECTION -A
Answer any five questions out of seven questions : (5%x2=10)

1. a) What are the elements of cost ?
b) What is a cost centre ?
c) What is piece rate system ?
d) Write four examples for administrative overheads.
e) What is Reconciliation Statement ? P :
f) Name any 4 methods of pricing materials issues.. ~~~ ¢ ' '}

g) Give the meaning of machine hour rate. = - \ 122
b L
SECTION - B A
Answer any three questions out of five questions : Bt 000 2 (3x4=12)

2. Write any four differences between cost accounting and financial accounting.

3. Calculate the Economic Order Quantity from the following information. Also
state the number of orders to be placed in a year.
Annual consumption 20,000 kgs
Cost of placing one order ¥ 40
Cost per kg of materials X 4
Storage cost = 8% of average inventory.

4. A worker's wages for a guaranteed 44 hrs a week is ¥ 10 per hour. The
estimated time to produce one article is 36 minutes. During the first week he
produced 100 articles.

Calculate the earnings of the worker under
a) Time rate b) Halsey plan c) Rowan plan.

5. Prepare a Stores Ledger from the following transaction adopting the FIFO
method of pricing out issues :
2023 March
18t — Opening balance 200 units at ¥ 2.00 per unit
2 — Purchased 600 units @ ¥ 3.00 per unit

(RS i i
6 Issued to production 600 units P.T.O.
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12" — Purchased 400 units at ¥ 3.40 per unit
22" — |ssued 300 units
26" — Purchased 500 units at ¥ 3.50 per unit
30" — Issued 200 units.

OO

6. The modern company is having four departments. A, B and C are product!on
departments and D is the service department. The actual cost of the period

were as follows :

%
Rent - 2,000
Depreciation - 900
Supervision - 3,000
Insurance on stock - 1,000

The following data are also available in respect of the four departments.
Production Dept.

A B
Area in sq. ft. 150 110
No. of workers 24 16
Total wages (%) 8,000 6,000
Value of plant (%) 24,000 18,000
Value of stock (%) 15,000 9,000

Apportion the costs to various departments in most equilable basis.

SECTION -C
Answer any three questions out of five questions :
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(3%10=30)

7. The following expenses were incurred during the year ended 30-12-2022 :

Direct materials -
Direct wages -
Chargeable expenses -
Factory overhead -
Administrative overhead -
Selling and distribution overhead -
Selling price -

4
5,000
3,000
2,000
3,000
4,000
3,000

25,000

You are required to prepare statement showing the profit earned for the year
2022 and an estimated price of a work which is to be executed in the year 2023.
Materials, wages and chargeable expenses will be ¥ 8,000, ¥ 10,000 and
X 2,000 respectively for the year 2023. The various overheads will be recovered

on the following basis :

a) Factory overhead as on a percentage of direct wages.
b) Administrative overhead, selling and distribution overhead as a percentage

on factory cost.
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8. Calculate the earnings of the worker under Taylor’s plan.
Time rate — X 3 per hour
Standard output 6 units per hour
Differential rate :
Lower piece rate @ 80% of normal piece rate
High piece rate @ 120% of normal piece rate
In a day of 8 hrs
A produces — 39 units
B produces — 45 units
C produces - 48 units
D produces — 50 units.

9. You are supplied with the following information and required to workout the
production hour rate of recovery of overhead A, B and C under

ated distribution or Simultaneous equation method.

A Production Dept. Service Dept.
b= A B g P Q
- 112,/,&'Pﬁmary overheads 7,810 - 12,543 4,547 4,000 2,600
63 LN : .
v ‘Expenses of service dept. P and Q are apportioned as under :
* A B c P Q
Service Dept. ‘P’ 30% 40% 20% - 10%
Service Dept. ‘Q’ 10% 20% 50% 20% -
Estimated working hours of production are as under :
Department A — 1000 hours
Department B — 2500 hours
Department C - 1400 hours.

10. Compute the machine hour rate from the following :
Cost of machine - 2,00,000
Installation charges - 20,000
Estimated scrap value after the expiry of its life of 15 years ¥ 10,000
Rent for the shop per month — ¥ 4000
General lighting for the shop per month — ¥ 600
Insurance premium for the machine p.a. — ¥ 1,920
Repair expenses p.a. ¥ 2,000
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Power 10 units per hour

Rate of power per 100 units T 40

Estimated working hours p.a. — 2,000

Shop supervision salary per month — ¥ 1,200

The machine occupies 4™ of the total area of the shop, the supervisor devotes
14" of his time to this machine.

11. From the following figures prepare a Reconciliation Statement and determine
financial profit.

3
Net profit as per costing books 66,760
Factory overhead under-recovered in costing 5,700
Administrative overhead recovered in excess 4,250
Depreciation charged in financial books 3,660
Depreciation recovered in costing 3,950
Interest received but not included in costing 450
Income tax provided in financial books 600
Bank interest credited in financial books 230
Stores adjustment (credited in financial books) 420
Depreciation of furniture charged in financial accounts 860
Dividends apportioned in financial accounts 1,200
SECTION -D
Answer any one question : (1x8=8)
12. A) Identify cost unit for a given industry.

Industry -

Cement SEARI UL VO

Automobile | %

Biscuit

Hospital

Soft drink

Gas

Transport

Electricity.

OR
B) Draft a specimen copy of Material Return Note.
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